
𝑥 # of cars   𝑝(𝑥)        𝑥 × 𝑝(𝑥)       (𝑥 − µ)ଶ𝑝(𝑥)

         0     0.1        0 × 0.1 = 0    (0 − 2.1)ଶ× 0.1 = 0.441

         1     0.2        0 × 0.2 = 0.2    (1 − 2.1)ଶ × 0.2 = 0.242

         2     0.3        2 × 0.3 = 0.6    (2 − 2.1)ଶ× 0.3 = 0.003

         3     0.3        3 × 0.3 = 0.9    (3 − 2.1)ଶ× 0.3 = 0.243

         4     0.1        4 × 0.1 = 0.4    (4 − 2.1)ଶ× 0.1 = 0.361

µ =  ∑𝑥௜𝑝௜(𝑥) = 2.1 𝜎ଶ = ∑൫(𝑥 − µ)ଶ𝑝(𝑥)൯ = 1.29
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µ =  ∑𝑥௜𝑝௜(𝑥) = 2.1 𝜎ଶ = ∑൫(𝑥 − µ)ଶ𝑝(𝑥)൯ = 1.29

𝜎ଶ = ∑൫𝑥ଶ𝑝(𝑥)൯ − µଶ

𝜎ଶ = (0ଶ × 0.1 + 1ଶ × 0.2 + 2ଶ × 0.3 + 3ଶ × 0.3 + 4ଶ × 0.1) − 2.1ଶ

𝜎ଶ = 1.29

𝜎 = ඥ𝜎ଶ
⎯⎯⎯ 

= √1.29
⎯⎯⎯⎯ 

= 1.13578 = 1.14

𝜇 =
∑ 𝑓௜𝑥௜

 
 

𝑛
⎯⎯⎯⎯⎯

𝜇 = ෍(𝑥 ×
𝑓

𝑛
⎯⎯)

 

 

𝜇 = ෍(𝑥 × 𝑝(𝑥))

 

 

𝑝(𝑥 ≤ 1) = 𝑝(0) + 𝑝(1) = 0.1 + 0.2 = 0.3

Cars per household

Mean Variance

Standard Deviation 𝜎 = ඥ𝜎ଶ
⎯⎯⎯ 

𝑝(𝑥 ≥ 1) = 𝑝(1) + 𝑝(2) + 𝑝(3) + 𝑝(4) = 0.2 + 0.3 + 0.3 + 0.1 = 0.9
𝑝(𝑥 ≥ 1) = 1 − 𝑝(0) = 1 − 0.1 = 0.9
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